T TEHEEARE

(7-104) Bl/KEM R LH(R7)

BEAR 1 Bl KB e L

X[ 10001 “EAigk L BK#E1-1 DIP.GX ¢ 150 DP=0. 80
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi% T.=L=189
® 150 )= 189.000 m
2 RYTFLLR)—THET A T=1=189
é 150 g 189.000 m
3 R EWRT—T7 L B R T=L=189
® 150 )= 189.000 m
4 Rk —MAR L &R T=1=189
)= 189.000 m
5 A —h AR T=1=189
150mm X 50m & 2fZ 410 iAFx b= 189.000 m
6 EKEER WK RER=1=189
)= 189.000 m
7 GHEERREINT T AT 7 MM AR SR T T =2 = R R A N = 1894240
15ecmPA T g 378.000 m
8  EEEIHIRAL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
HHETFn A 22— A 0.435 m3 EHLEE=(189%2+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T = BB + I A N5 =189%0. 6+0
BHEEE10emA T 2 113.400 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexE + I AN =189%0. 6+0
EAEIE10emLA T B 113. 400 m2
11 EFK4EHE] BHO0.20m3 P THI=4E g +%E=189%0. 6%1. 02
g 115. 668 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 3.240 m3 0.6%0. 2%54
13 EEHEE (W E) BH0.20m3 MR B TUL=%E K+l +%E=189%0. 6%0. 67
Jysay R RE )= 75.978 m3
14 B RE (kg ) BH0.20m3 B T U2=3E g+ ZE=189%0. 6*0. 25
RC-40H R + & L\ [ 6D Ve 28.350 m3
15 ‘B E (W E) BH0.20m3 M BT T US=AE K+ +{%E=189%0. 6%0. 12
M-30H & + &> S5 [E 6 g 13.608 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
Iyioay bR )= 3.240 m3 0. 6%0. 2%54
17 EEERE BHER) BH0.20m3 RGN GITRR ) =4 Fox 8 Wi i Ff=—1%189%0. 022
Iyay R g -4, 158 m3
18 REREEEEMALE As BER AL 55 (HE ) =R ff = S =113. 40. 05
)N e 2 b 5.670 m3
19 TEFXPEEMLIE As FEA ALy (IS5 1R) =Rl e i Ff+ /5 X =113. 4%0. 03
N S )= 3.402 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PR HID) =Rl A i Rk /S X =113. 4%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 5.670 m3
21 FEFEAPLERE BH0.20m3 DTr4t BERA T (A 1) =i FE+ /R X =113. 4%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 3.402 m3
22  ZE&AEH BH0.20m3 DTrdt T 3B HR=H1 4> +H24> +ik IR 4 (e +RI ) — % =115.
+# 10.0kmPA T DID#E g 118.908 m3 668+0+3. 24+00
23 AREET (BEE-HJE) 3cml IS IH =4 F g+ I A I Hi=189%0. 6+0
FAEBRIEAs 771 2 113.400 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=4E K+ g+ EFE I 5i=189%0. 6+0
HEBRIEAs 7 T7145 )= 113.400 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

X[ 10002 EAigk L BK#E1-1 DIP.GX ¢ 150 DP=1.50
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=8
® 150 )= 8.000 m
9 RYZFLLRAY—T BT EHiRT=1=8
é 150 g 8.000 m
3 #EEE BT —7 L B/ RT=1-8
® 150 )= 8.000 m
4 Rk —MAR L AR T=1=8
)= 8.000 m
5 ik —h BEHRT=1=8
150mm X 50m & 2fZ 410 iAFx b= 8.000 m
6 IEKEER H/KERER=1=8
)= 8.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I =8 %240
15emlL T )= 16.000 m
8  HEBIGIRA T SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
HHETFn A 22— A 0.018 m3 &fifE[E=(8%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AEERE A T = BB + T A N =8%0. 9+0
AEE 10em L T & 7.200 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + T AN HL=8%0. 9+0
AR 10em L T g 7.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*MEE=8%0. 9%1. 72
g 12.384 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.630 m3 0.9%0.2%7
13 R T (BRI A - Bk ) R T T=4E =8
1L5m<#BHIE=<1.8m ~'v/ivs|k B 8.000 m
14 EEEHERE (M R) BH0.20m3 PR T.UL=AE E+E*%=8%0. 9%0. 67
7yvar AR R 2 4,824 m3
15 EEIERE (R RE) BH0.20m3 R T.U2=4E -+ #145=8%0. 9%0. 95
RC-40M & + & _kE[ED g 6.840 m3
16 B R (kg ) BH0.20m3 R TUS=4E F*IEH4E=8%0. 9%0. 12
M-308 & + & o7 S [E D )= 0.864 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R A 0.630 m3 0.9%0.2%7
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i FE=—1%8%0. 022
7yvar AR R 2 -0.176 m3
19 ARBEFEWLIE As FEM LSS (HR ISR ) =l e i Fie /5 X =7. 2%0. 05
N S )= 0.360 m3
20 FERXPEFEMAIE As BER LSy (A5 1E) =Rl R IR X =7. 2%0. 03
)N e 2 b 0.216 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE HIFA0) =i R /R X =7. 2%0. 05
AsHll - Colifl (%) 4.5km A T DID4E & 0.360 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =M A2 X =7. 2%0. 03
AsHl - CoBfl (M%) 4.5km L B DID M J= 0.216 m3
23 A +IERE BH0.20m3 DTr4t B - iEHR=H1 53 +H2 53 ik TR 4y (IS +lm) - B4 =12. 3
+# 10.0kmPA T DIDHE B 13.014 m3 84+0+0.63+00
24  EHZET (HEE-HJE) 3cnl/E IAE |H=FE FHIlg + I A TN L =8%0. 9+0
HEBRIEAs 7 T7145 P 7.200 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E FHIE+ I AR N H=8%0. 9+0
BRI EAs I )= 7.200 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

BEAR 1 Bl KB e L

X[ 10003 EAigk L BK#E1-1 DIP.GX ¢ 150 DP=0. 80
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T=L=15
® 150 )= 15.000 m
9 RYZFLLRAY—T BT EHRT=L=15
é 150 g 15.000 m
3 R EWRT—T7 L B R T=L=15
® 150 )= 15.000 m
4 R — M L IR T=1=15
)= 15.000 m
5 ik —b IR T=L=15
150mm X 50m, & 265471 5A L b= 15.000 m
6 EKEER WK RER=1L=15
)= 15.000 m
7 GHEERREINT T AT 7 MM AR ST T =2 A = PR R AN B = 15%2+0
15ecmPA T g 30.000 m
8  EEEIHIRAL SRS T 7K AL B = (BEE AE 4 I+ AR+ I BRD) *0. 023%
HHETFn A 22— A 0.035 m3 &ffEE=(15%2+0) %0, 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I AN =15%0. 6+0
BHEEE10emA T & 9.000 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexlE + I AN H=15%0. 6+0
AR 10em L T g 9.000 m2
11 EFK4EHE] BHO0.20m3 P THI=ZE R+ g *2=15%0. 6%1. 02
)= 9.180 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.420 m3 0.6%0. 2%7
13 EEERE (WHER) BH0.20m3 R T.UL1=4E -+ *14=15%0. 6%0. 67
ryioay R LR )= 6.030 m3
14 3 BEHE B (Kb 52) BHO.20m3 PR T U2=4E s+ 8=15%0. 6%0. 25
RC—40# = + Z > S [E 8 = 2.250 m3
15 EEERE (R RE) BH0.20m3 R TUS=4E -+ *14=15%0. 6%0. 12
M-30H & + &> S5 [E 6 g 1.080 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR 2 0.420 m3 0.6%0. 2%7
17 EEERE BHER) BH0.20m3 R GPERR GHTRR ) =4 B+ Wi F=— 1% 15%0. 022
ryioay R LR )= -0.330 m3
18 THEEXBEIEWALER As BERA LSy (BEHIFD) =l i FEk /5 X =9%0. 05
)N e 2 b 0.450 m3
19 EERBEIEMMBEL As BEA ALy (S 1) =Rl A hi Rk X =9%0. 03
N S )= 0.270 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (B IS =Tl i Rk /5. X =9%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.450 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (S 1) =Rl A i Rk X =9%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 0.270 m3
29 A +TERF BH0.20m3 DTrdt B B Me=H1 50 +H2 23 Hik T8 4 (A +Alm) -#iE44=9. 18
1> 10.0kmPL T DIDME g 9.600 m3 +0+0.42+00
23 AREET (BEE-HJE) 3cml IS B =JE S E+ I AR I 5H=15%0. 6+0
HABRIEAs TT745 & 9.000 m2
24  EHEET (HE - BJE) SemlfE ARAE |H=FE FHlg + I AE N A =15%0. 6+0
HEBRIEAs 7 T7145 P 9.000 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

X[ 10021 Ak L BK#E1-2 DIP.GX ¢ 100 DP=0. 80
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAA g% L.=L=6
$ 100 )= 6.000 m
9 RYZFLLRAY—T BT B T=1=6
6 100 g 6.000 m
3 #EEE WU —7 L B/ RT=1-6
$ 100 )= 6.000 m
4 B —Mi T EWIR =16
)= 6.000 m
5 A —h AR T=1=6
150mm X 50m & 2fZ 410 iAFx b= 6.000 m
6 IEKEER H/KFRER=1=6
)= 6.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =6%2+0
15emlL T )= 12.000 m
8  HEBIGIRA T SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
HHETFn A 22— A 0.014 m3 &lfEE=(6%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =6%0. 6+0
SRR 10em L T B 3.600 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T = BerlE + T A N H=6%0. 6+0
AR 10em L T g 3.600 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*ME*4=6%0. 6%0. 97
)= 3.492 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.360 m3 0.6%0.2%6
13 EEERE (WHER) BH0.20m3 R B TU1 =4 R *E+12=6%0. 6%0. 62
Iyay R )= 2.232 m3
14 B RE (kg ) BH0.20m3 PR TU2=4E F*IE+14E=6%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 0.900 m3
15 EEERE (R RE) BH0.20m3 IR 5 T US=4E R #E+12=6%0. 6%0. 12
M-30H & + &> S5 [E 6 g 0.432 m3
16 ISR (MR &) BH0.20m3 PREE T (kR4 - JEE50) =JE R A LoiEWasiZE A H+ {5 Frk=0. 5%
7vvar AR 2 0.360 m3 0.6%0.2%6
17 EEERE BHER) BH0.20m3 RGN GHTRR &) =4 =+ %8 BT i F=—1%6%0. 011
Iyay R )= -0.066 m3
18 THEEXBEIEWALER As BERA LSy (BEHIFR) =Rl A i FEe /5. X =3. 6%0. 05
)N e 2 b 0.180 m3
19 ARBEFEWLIE As FEM LSy (RAE IR =l e i Fie 5 £ =3. 6%0. 03
N S )= 0.108 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PR I =l FEpk /5. X =3. 6%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.180 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (A5 1) =Rl Fe /R X =3. 6%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 0.108 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HA ) 5574 =3. 49
+4#5 10.0kmLL F DID%E B 3.852 m3 2+0+0.36+00
23 AREET (BEE-HJE) 3cml IS B =AE S IE + I AR N =6%0. 6+0
BRI EEAs 74N )= 3.600 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=FE FHIlg + A TN =6%0. 6+0
HEBRIEAs 7 T7145 P 3.600 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

X[ 10022 EAigk L BK#E1-2 DIP.GX¢$ 100 DP=1.70
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=5
$ 100 )= 5.000 m
9 RYZFLLRAY—T BT B T=1=5
6 100 g 5.000 m
3 #EEE WU —7 L EW/RT=1=5
$ 100 )= 5.000 m
4 Rk —MAR L B R T=1=5
)= 5.000 m
5 ik —b R T=1=5
150mm X 50m & 2fZ 410 iAFx b= 5.000 m
6 IEKEER H/KERER=L=5
)= 5.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =5%2+0
15emPL T )= 10.000 m
8  HEBIGIRA T SRS T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
HHETFn A 22— A 0.012 m3 &ffEE=(5%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =5%0. 9+0
AEE 10em L T & 4.500 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = ForlE + I A INHL=5%0. 9+0
AR 10em L T g 4.500 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E FxmE=5%0. 9%1. 87
)= 8.415 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.360 m3 0.9%0.2%4
13 R T (RS R R A - Bk ) R T T=4ERE=5
1.8m<HBHIE=<2.0m ~'v/ivs|k B 5.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=5%0. 9%0. 62
7yvar AR R 2 2.790 m3
15 EEIERE (R RE) BH0.20m3 R TU2=4E e+ #14=5%0. 9%1. 15
RC-40# 2 + %> 7 5 E o g 5.175 m3
16 B R (kg ) BH0.20m3 R TUS=4E F*IE4E=5%0. 9%0. 12
M-308 & + & o7 S [E D g 0.540 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R A 0.360 m3 0.9%0.2%4
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1 K+ BT FE=—1%5%0. 011
7yvar AR R 2 -0.055 m3
19 ARBEFEWLIE As FEM LSS (U ISR ) =l e i Fie /5 X =4. 5%0. 05
N S )= 0.225 m3
20 FERXPEFEMAIE As BER LSy (A5 1) =Rk A i R IR X =4. 5%0. 03
)N e 2 b 0.135 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE HITA0) =i FE+ /R X =4. 5%0. 05
AsHll - Colifl (%) 4.5km A T DID4E & 0.225 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =M fdi /2 X =4. 5%0. 03
AsHl - CoBfl (M%) 4.5km L B DID M J= 0.135 m3
23 A +IERE BH0.20m3 DTr4t B 1T R=H1 53 +H2 53 HiE T 88 50 (IS +ll ) —fii 545 =8. 41
18> 10.0kmLL F DIDE A 8.775 m3 5+0+0. 36+00
24  EHZET (HEE-HJE) 3cnl/E IS |H=FE FHlg + I A TN L =5%0. 9+0
HEBRIEAs 7 T7145 P 4.500 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E FHIE + I AR N H=5%0. 9+0
BRI EAs I )= 4,500 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

XM 10023 ‘EAAek L

B#1-2 RRVP ¢ 75 DP=1.70

NO b4,/ 3i#s -~k B g HAL EHEKX

1 WEHEkE=VE PR T VPAi R L=L=1.5
675 )= 1.500 m

2 WEEH(ke =B EBIRRT—7 L IR L=L=1.5
675 g 1.500 m

3 AEERS —MER T AR T=1=1.5

g 1.500 m

4 FEF—b IR T=1=1.5
150mm X 50m,// % 25 0IAF» J= 1.500 m

5 GEERREINT T AT 7V ML ST T =2 A = IR A N =1, 5%2+0
15emPL T )= 3.000 m

6 HEBIGIRA T SRR T 7K AL B = (BlEE AE 4 I+ A2+ I BRD) *0. 023%
WHETFn A 22— A 0.003 m3 EHLEE=(1.5%2+0)*0. 023%0. 05

7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 9+0
AAEIE 1 0cm LA T Vs 1.350 m2

8  ERLEANEUELAA BHO0.20m3 SRR A T =1E BexlE+ AN F=1. 5%0. 9+0
EAEIE10emLA T B 1.350 m2

9 FHHEH| BHO0.20m3 PR THI=ZE Fslig+%8=1. 5%0. 9%1. 84

)= 2.484 m3

10 R T OB R St - il it 1) Rl TR T=5EFE=1.5
L8m<<HRHNE=2.0m ~v/rikvg|ik s 1.500 m

11 EEHEE (W E) BH0.20m3 MBS TUI=AE Fo#iig+i%E=1. 5%0. 9%0. 59
Iyioay R LR )= 0.797 m3

12 B R (kg ) BHO0.20m3 PR TU2=4E F*IE*4E=1. 5%0. 9%1. 15
RC-40H R + & L\ [ 6D 2 1.553 m3

13 EHHEE (W E) BH0.20m3 MBS TUS=AE Ko#ig+i%E=1. 5%0. 9%0. 12
M-30HR R + &/ 5 [ o )= 0.162 m3

14 EEEHERE (M R) BH0.20m3 PR B PERR GOk &) =4k £+ 48 Wi i fE=—1%1. 5%0. 006
Iyiay bR g -0.009 m3

15 ERRBEFEWALEL As BER L5y (BRI =R FE+ /5 X =1. 35%0. 05
N S )= 0.068 m3

16 FERFEIEMLIE As BER LSy (A5 1B =ik A Fe 5 X =1. 35%0. 03
RPN e 2 b 0.041 m3

17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R R+ /R X =1. 35%0. 05
AsHil - Colifl (%) 4.5km A T DID4E g 0.068 m3

18 FEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =ik FEe 5 X =1. 35%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.041 m3

19 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +ll ) —Fi 545 =2. 48
18> 10.0kmLLF DIDE A 2.484 m3 4+0+0+00

20 EiZE T (HEE-HE) Senl/E A8 IH=E F+ g+ E A N %=1, 5%0. 9+0
HEBRIEAs 7 T745 P 1.350 m2

21 EREET (BEE-HJE) SemlfE A IH=IE F* g+ A I Hi=1. 5%0. 9+0
BRI EAs I )= 1.350 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

XIH 10031 “EAfigx T. ##R1-3 DIP.GX¢ 75 DP=0. 80
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAAgER 1.=L=7
o 1500 Vs 7.000 m
9 RYZFLLRAY—T BT EHRT=L=T
O T5LLT g 7.000 m
3 HEE BT —7 L EW/RT=1=7
675 )= 7.000 m
4 Rk —MAR L R T=1=7
)= 7.000 m
5 A —h AR T=1=7
150mm X 50m & 2fZ 410 iAFx b= 7.000 m
6 IEKEER EKERER=L=7
)= 7.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A B I B =T%2+0
15emPL T )= 14.000 m
8  HEBIGIRA T SRR T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
HHETFn A 22— A 0.016 m3 &ffEE=(7%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + T AN =7%0. 6+0
SRR 10em L T B 4,200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + I AN H=T7%0. 6+0
AR 10em L T g 4.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=E Fex@*i=7%0. 6%0. 94
)= 3.948 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.420 m3 0.6%0. 2%7
13 EEERE (WHER) BH0.20m3 IR T UL =3 R * @ ZE=7%0. 6%0. 59
ryioay R LR )= 2.478 m3
14 B RE (kg ) BH0.20m3 PR TU2=4E F*IEE=T%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 1.050 m3
15 EEERE (R RE) BH0.20m3 IR B T US=4E R #E+12=T%0. 6%0. 12
M-30H & + &> S5 [E 6 g 0.504 m3
16 ISR (MR &) BH0.20m3 PREE T (kR4 - JEE50) =JE R A LoiEWasiZE A H+ {5 Frk=0. 5%
7vvar AR 2 0.420 m3 0.6%0. 2%7
17 EEERE BHER) BH0.20m3 RGN IR ) =1L B8 Wi fE=—1%7%0. 007
ryioay R LR )= -0.049 m3
18 THEEXBEIEWALER As BERA ALy (BEHITR) =Rl A FEe /5 X =4. 2%0. 05
)N e 2 b 0.210 m3
19 ARBEFEWLIE As FEM LSS (RAE IR =l e i Fie 5 K =4. 2%0. 03
N S )= 0.126 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PRI =Rl A Rk IS X =4. 2%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.210 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (S 1) =Rl i FEe /R X =4. 2%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 0.126 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +R ) — i 5=7%=3. 94
+4#5 10.0kmLL F DID%E B 4.368 m3 8+0+0.42+00
23 AREET (BEE-HJE) 3cml A B =AE S E+ I AR N A =7%0. 6+0
BRI EEAs 74N )= 4,200 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=FE FoHlg + AR N H=7%0. 6+0
HEBRIEAs 7 T7145 P 4.200 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

XM 10032 “EAAexk L

M#1-3 HPPE ¢ 75 DP=0. 80

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ARI=FUL 8 SRS Mz T PEAiE% T=L=14
675 )= 14.000 m
2 M=FLUE EHRT—7 L EWRT=L=14
675 g 14.000 m
3 AEERS —MER T AR T=1=14
J= 14.000 m
4 FEF—b EH/RT=1=14
150mm X 50m,/ & 2fZH11IA F» V= 14.000 m
5 KR BAKFRER=L=14
)= 14.000 m
6 EHIERRUINT TAT7 VMRS SRS T T =E 2 4 R PR AR B N B =14%2+0
15emEh T g 28.000 m
7T REERIGIRL AR TR 7K AL BR= (Bl EEAE B I+ AL+ IR *0. 023%
BT 72— = 0.032 m3 &f%EE=(14%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRS A T =1 FexlE + T AN H=14%0. 6+0
EAEIE10emLA T B 8.400 m2
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + T AN =14%0. 6+0
AAEIE 1 0cm L T V5 8.400 m2
10 ‘FHEHI BHO0.20m3 R TH1=4E R+ g %E=14%0. 6%0. 94
)= 7.896 m3
11 ERHEE (B RE) BH0.20m3 P T U1 =4 siligfe=14%0. 6%0. 59
Iyioay R LR )= 4,956 m3
12 B R (kg ) BHO0.20m3 PR T U2=4E =+ ig*i4E=14%0. 6%0. 25
RC-40H R + & L\ [ 6D 2 2.100 m3
13 ERME (B RE) BH0.20m3 P 5 T US=4E e silifsie=14%0. 6%0. 12
M-30HR R + &/ 5 [ o g 1.008 m3
14 EEEHERE (M R) BH0.20m3 B PERR CHraR &) =4k £+ 45 Wi i FE=—1%14%0. 006
Iyiay bR g -0.084 m3
15 EEERBEIEMMLEL As BEAA ALy (PR EIER) =Rl i Fe /R X =8. 4%0. 05
N S )= 0.420 m3
16 FERFEIEMLIE As BER LSy (A5 1) =l FER /R X =8. 4%0. 03
RPN e 2 b 0.252 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (HE HITA0) =i FEf+ /R X =8. 4%0. 05
AsHil - Colifl (%) 4.5km A T DID4E g 0.420 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERTEM (15 1R) =M A/ X =8. 4%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.252 m3
19 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 HiE TR 4y (S +ll ) — #5485 =7. 89
18> 10.0kmLLF DIDE A 7.896 m3 6+0+0+00
20 AHEET (HE - BJE) 3cmlfE IAE B =FE FoHlE + I AE N =14%0. 6+0
HEBRIEAs 7 T745 P 8.400 m2
21 EREET (BEE-HJE) SemlfE AAE IH=1E FHIg+ AR I H=14%0. 6+0
BRI EAs I )= 8.400 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

BEAR 1 Bl KB e L

XM 10041 “EAnex L JBr4s DIP.GX ¢ 75 DP=0. 80
NO 4/ 3k ~HE B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAis% T.=L=3.5
o 1500 Vs 3.500 m
9 RYZFLLRAY—T BT EHIRT=1=3.5
O T5LLT g 3.500 m
3 R EWRT—T7 L B R 1=1=3.5
675 )= 3.500 m
4 Rk —MAR L IR L=L=3.5
)= 3.500 m
5 A —h BHAR T=1=3.5
150mm X 50m & 2fZ 410 iAFx b= 3.500 m
6 EKEER WK FRER=1=3. 5
)= 3.500 m
7 EHEERRUINT T AT 7V MR SR T T =2 = R R A N =3, 5%2+0
15emPL T )= 7.000 m
8  EEEIHIRAL SRR ) T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
HHETFn A 22— A 0.008 m3 EHLEE=(3. 5%2+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I AN E=3. 5%0. 6+0
BHEEE10emA T & 2.100 m2
10 EFEERNEUELFGA BHO0.20m3 SR A T =1 BexlE + I AN =3. 5%0. 6+0
EAEIE10emLA T B 2.100 m2
11 EFK4EHE] BHO0.20m3 PR THI=2E Flig+i%8=3. 5%0. 6%0. 94
)= 1.974 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.180 m3 0.6%0.2%3
13 EEHEE (W E) BH0.20m3 MBS TUI=4E Fo#lig+i%E=3. 5%0. 6%0. 59
Iyay R )= 1.239 m3
14 B RE (kg ) BH0.20m3 R T U2=4E R #ilig+i8=3. 5%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 0.525 m3
15 ‘B E (W E) BH0.20m3 M B T US=AE K+ +i%E=3. 5%0. 6%0. 12
M-30H & + &> S5 [E 6 g 0.252 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR = 0.180 m3 0.6%0.2%3
17 EEERE BHER) BH0.20m3 R BPERR IR ) =1L Fo+ 48 Wr i fE=—1%3. 5%0. 007
Iyay R )= -0.025 m3
18 FREXPEIEWALEL As BERA LSy (BEHITR) =Rl A FEe /S X =2. 1%0. 05
)N e 2 b 0.105 m3
19  ERBEFEWILIEL As BEA AL S5 (S 1R =R A Fi+ . X =2. 1%0. 03
N S )= 0.063 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTIE M (HE ) =M A2 X =2. 1%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.105 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (A8 1) =Rl Fe /R X =2. 1%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 0.063 m3
29 A +TERF BH0.20m3 DTrdt B B M=H1 57 +H2 23 Hik T8 40 (S +lm) -#iE s =1. 97
1> 10.0kmPL T DIDME g 2.154 m3 4+0+0. 18+00
23 AREET (BEE-HJE) 3cml IS IH=4E F* g+ A I =3, 5%0. 6+0
HABRIEAs TT745 & 2.100 m2
24  EiZET (HEE-HJE) Senl/E ARAE IH=4E K+ IE+EFE N 5=3. 5%0. 6+0
HEBRIEAs 7 T7145 P 2.100 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

10

XM 10042 &k L JeH%  SGP-VD ¢ 50 DP=0. 80

NO b4,/ 3i#s -~k B g HAL EHEKX

1 SEAER (AT HEfF T #iZ& T=L=0.5
6 50 )= 0.500 m

2 BRI — ML IR T=1=0.5

)= 0.500 m

3 R —b IR T=L=0. 5
150mm X 50m & 262410 iA Fx b= 0.500 m

4 EHIERRUINT T AT 7 VMRS SRS T T =E 2 4 R PR AR B N B =0. 5%2+0
15emPL T B 1.000 m

5 EERIGIRLH AL TR K AL Bl = (Bl EE AT B4 I+ A+ IR *0. 023+
TR 2 — = 0.001 m3 2%EE=(0.5%2+0)*0. 023%0. 05

6 ERLERNEUELAA BHO0.20m3 SRR A T =1 FexE + I AN =0. 5%0. 6+0
AR 10em L T i 0.300 m2

7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN E=0. 5%0. 6+0
SAEE 1 0em Pl T & 0.300 m2

8 FIHEHI BHO0.20m3 P T H1=4EF B * I %E=0. 5%0. 6%0. 91

)= 0.273 m3

9 EEIERE (WHIERE)BH0.20m3 R B T U1 =4 R #E1ZE=0. 5%0. 6%0. 56
Iioay R LR )= 0.168 m3

10 B R (kg ) BHO0.20m3 PR TU2=4E F+IE*4E=0. 5%0. 6%0. 25
RC—40HL = + &> S [E 8 = 0.075 m3

11 EEERE (R RE) BH0.20m3 B T US=FE & #lE+E=0. 5%0. 6*0. 12
M-30HR R + &/ [ o )= 0.036 m3

12 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =1L K+ Wi Ff=—1%0. 5%0. 003
7yvar AR 2 -0.002 m3

13 ARRBEFEWALIE As BEAA ALy (R EIER) =Rl i Fe /R X =0. 3%0. 05
N S )= 0.015 m3

14 FEERBEIEWALER As BEA ALy (A5 1R =R i F+ S5 X =0. 3%0. 03
)N e 2 b 0.009 m3

15 PEREALFLEME BH0.20m3 DTr4t BERA T (HE H1FA0) =i R /R X =0. 3%0. 05
AsHll - Codifl (%) 4.5km A T DID4E & 0.015 m3

16 PEPEALEEIERE BH0.20m3 DTr4t BERTEM (15 1R) =i fd /&= X =0. 3%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.009 m3

17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 27
18> 10.0kmLLF DIDE = 0.273 m3 3+0+0+00

18 Ei¥ET (HE-HJE)3cnl)E A8 IH=4E K+ g+ E AR N 5i=0. 5%0. 6+0
HEBRIEAs 7 T745 P 0.300 m2

19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I 5H=0. 5%0. 6+0
BRI EAs I )= 0.300 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

11

X[ 10043 EAigk L Kk PP$25 DP=0.70

NO b4,/ 3i#s -~k B g HAL EHEKX

1 AR — MR L N Tol-1

g 1.000 m

2 I —b EHR =LA
150mm X 50m,// % 25 Hr0IAF» J= 1.000 m

3 AHLERRUINT TAT 7V M ST T =52 A P e A B I B =1%2+0
15emPL T )= 2.000 m

4 HEBUGIRA T SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
HHETFn A 2 — A 0.002 m3 &fHEE=(1%2+0)*0. 023%0. 05

5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB + T A N =1%0. 6+0
AAEIE 1 0cm LA T Vs 0.600 m2

6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H =10, 6+0
EAEE10emLA T B 0.600 m2

7 EWIEE] BHO0.20m3 PR THI=AE FexgE*i=1%0. 6%0. 78

)= 0.468 m3

8 BB (FEhE I ) BHO.20m3 R TUL=4E Forfigs4e=1%0. 60, 43
Tyiay AR g 0.258 m3

9 EEME (B R) BH0.20m3 R B T U2=4E R #E1Z8=1%0. 6%0. 25
RC-40# & + & 7 5 [E g 0.150 m3

10 B R (kg ) BHO0.20m3 PR TUS=4E F*IE*4E=1%0. 6%0. 12
M-308 & + & o7 S [E D g 0.072 m3

11 EEERE R R) BH0.20m3 RGN GHTRR ) =4 =+ 48 B i FE=— 1% 1%0. 001
Iyioay R LR )= -0.001 m3

12 FEREEIEMAIL As JFERA AL Gy (B HIER) =l A i Ff+ )5 X =0. 6%0. 05
RPN e 2 b 0.030 m3

13 EERBEFEWALEL As BEA ALy (B 1) =Rl ii FEe /R X =0. 6%0. 03
N S )= 0.018 m3

14 PEREALEEIERE BH0.20m3 DTr4t BEAA T (PR 1) =Rl FEk /S X =0. 6%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.030 m3

15 PEREALFLEME BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =0. 6%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.018 m3

16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 46
+4#5 10.0kmLL F DID%E B 0.468 m3 8+0+0+00

17 ST (HEE-#E)3cnl /@ A B =AE S E + I AR N =1%0. 6+0
BRI EAs I )= 0.600 m2

18 Ei%ET (HIE-HJE)Senl)E ARAE |H=FE FoHlg + A N F=1%0. 6+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

12

I 11001 A& T BSHR1-1 BP

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE ST T =52 A P e A B N =0, 75%2+2
15emPL T )= 3.500 m

2 HEBIGIRA T SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.004 m3 EHLEE=(0. 75%2+2)*0. 023*0. 05

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I A NS =0. 75%1+0
SEE 1 0em L T 2 0.750 m2

4 EREERNEUELAA BHO0.20m3 SRR T =JE g+ T AR N 5=0. 75%1+0
EEEE 10em L T b 0.750 m2

5 RHEY T BSHIRKHY PEH THI=2EFE*IE*2E=0. 75%1%0. 49
ANT] 5 0.368 m3

6 ‘FIHEE] BHO0.20m3 PR TH2=7F -+ lE%8=0. 75%1%0. 73

)= 0.548 m3

7 ERMERE (BT R) BHO0.20m3 R TU1=4E R *E%22=0. 75%1%0. 87
Iioay R LR )= 0.653 m3

8 BB (Fhg I ) BHO.20m3 R T U2=4E -+ EiZE=0. 75%1%0. 25
RC-408 &+ # o /3Fh[E D = 0.188 m3

9 EEKERE (WHIERE)BH0.20m3 R 5 T US=4E R+ E%122=0. 75%1%0. 12
M-30HREE + & o/ [ o )= 0.090 m3

10 ERRELE (AR 52) BHO.20m3 BRGPERR CRTRR i) =HE R+ WT I A= 1%0. 75%0. 022
7yvar AR 2 -0.017 m3

11 ARBEFEWALIE As BER L5y (BR HIFAR) =i FE+ /8 X =0. 75%0. 05
N S )= 0.038 m3

12 EERBEEMMIL As BERF ALy (A8 1R) =R i = £ =0. 75%0. 03
RPN e 2 b 0.023 m3

13 PEREALFLEME BH0.20m3 DTrdt BERA T (HE 10 =i R+ /R X =0. 75%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.038 m3

14 PEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =ik A FEe 5 X =0. 75%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.023 m3

15 /A +5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 36
18> 10.0kmLLF DIDE g 0.916 m3 8+0.548+0+00

16 Ei%ET (HE-KE)3ml)E A8 1B =FE FHlg + T AE N =0. 75%1+0
HEBRIEAs 7 T745 P 0.750 m2

17 & T (EE-¥E)5eml /& AAE IH=JE FHIg+ I AR INH=0. 75%1+0
FAEBRIEAs 744 )= 0.750 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

X[# 11002 FHEAET KHER1-2 EP

13 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAED) B =545 AT B IR H S« AR BN %=0. 75%2+1. 6
15ecmPL T B 3.100 m
2 HEBIGIRA T SR TR 7K AL B = (BlEE AE 40 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.004 m3 EHLEE=(0. 75%2+1. 6)*0. 023*0. 05
3 EMEEARIPUELAEDA BHO.20m3 SR T=AE S g+ AR N 5=0. 76%0. 8+0
SRR 1 0em L T B 0.600 m2
4 EREERNEUELAA BHO0.20m3 SHEER A T = FexlE +IE AN HL=0. 75%0. 8+0
EAEE10emLA T B 0.600 m2
5 KEEY b BUREKHY PE A THI=ZE K # g +%E=0. 75%0. 8%0. 62
ANT] 5 0.372 m3
6 ‘FIHEE] BHO0.20m3 I TH2=4E g 22=0. 75%0. 8%0. 92
)= 0.552 m3
7 R (R R A - B ) SRR T T=ER=0.75
L5m<#EHIE=<1.8m ~'v/&v5|ik s 0.750 m
8 BB (FEhE I ) BHO.20m3 B T U= R *4E=0. 75%0. 8%0. 79
Tyiay AR g 0.474 m3
9 EHHEE (W) BH0.20m3 R TU2=FE R+l +E=0. 75%0. 8%0. 65
RC—40H R + & 7 FE[E D 2 0.390 m3
10 ERRELE (AR 52) BHO.20m3 HiLBE TUB=JIE S fai4e=0. 75%0. 80. 12
M-30 & + & > 7 S [E o g 0.072 m3
11 EEERE R R) BH0.20m3 PR RRAZERR (HaR ) =4 e & Wi Afi=—1%0. 75%0. 006
Iyioay R LR )= -0.005 m3
12 EERBEEMMIL As BERA LSy (BEHIFR) =Rl A i FEe /5 X =0. 6%0. 05
RPN e 2 b 0.030 m3
13 EERBEFEWALEL As FEM LSS (RAE R =l e i Fie /5 £ =0. 6%0. 03
N S )= 0.018 m3
14 PEREALEEIERE BH0.20m3 DTr4t BER E My (PR HED) = i+ < =0. 6%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.030 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =0. 6%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.018 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 3574 =0. 37
+4#5 10.0kmLL F DID%E B 0.924 m3 2+0.552+0+00
17 ST (HEE-#E)3cnl /@ A B =AE FHIE+ I AR N H=0. 75%0. 8+0
FAEBRIEAs 744 )= 0.600 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=1E FoHlg + AR N A =0. 75%0. 8+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

14

XA 11011 FAHBLEAK T VP ¢ 50 DP=0. 80
NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAf % T=L=2
® 50 )= 2.000 m
2 WEEH(ke =B EBIRRT—7 L R T=1=2
$50LL g 2.000 m
3 FEIE —MR L IR T=1=2
g 2.000 m
4 PR —h R T=1=2
150mm X 50m,// % 25 0IAF» J= 2.000 m
5 KR wAFRER=L=2
B 2.000 m
6 EHIERRUINT TAT7 VMRS SR G T =52 1 = R AR B I B =2%2+0
15emPL T B 4.000 m
7T REERIGIRL A TR K AL BR= (Bl EE AT B4 I+ AL+ IR *0. 023+
BT 72— = 0.005 m3 &HEE=(2%2+0)*0. 023+%0. 05
8  ERLEANEUELAA BHO0.20m3 SRS A T =1 BerlE + T AN HL=2%0. 6+0
EEEE 10em Pl T b 1.200 m2
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =2%0. 6+0
AEE 10em L T 2 1.200 m2
10 ‘ER4EH] BHO0.20m3 JEHE TH1=JE F*g*E=2%0. 6%0. 91
)= 1.092 m3
11 ERHEE (B RE) BH0.20m3 P T U1 =4 sligsiZe=2%0. 6%0. 46
Iyioay R LR )= 0.552 m3
12 B R (kg ) BHO0.20m3 R TU2=4E F*E*4E=2%0. 6%0. 35
RC—40H# = + Z > S [E 8 = 0.420 m3
13 ERME (B RE) BH0.20m3 P 5 T US=4E e sligisie=2%0. 650, 12
M-30H & + &> S5 [E 6 g 0.144 m3
14 EEEHERE (M R) BH0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i FE=—1%2%0. 003
7yvar AR R 2 -0.006 m3
15 ARBEFEWALIE As BEAA ALy (R EIER) =Rl Fe /R X =1. 2%0. 05
N S )= 0.060 m3
16 FHEEXBEIEWALER As BER LSy (A5 1) =Rk A FER IR X =1. 2%0. 03
RPN e 2 b 0.036 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BE IS =R R /R X =1. 2%0. 05
AsHil - Colifl (%) 4.5km A T DID4E g 0.060 m3
18 PEREALEEIERE BH0.20m3 DTr4t BEREM (15 1R) =M A= S =1. 2%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.036 m3
19 F/AE+5EME BHO0.20m3 DTr4t B 1T R=H1 53 +H2 53 ik TR 4y (IS +lm) - 548 =1. 09
18> 10.0kmLLF DIDE A 1.092 m3 2+0+0+00
20 EiZE T (HEE-HE) Senl/E IS |H=FE FoHlE + I A TN L =2%0. 6+0
HEBRIEAs 7 T745 P 1.200 m2
21 EREET (BEE-HJE) SemlfE AAE |H=1E FHIE+ I AR N H=2%0. 6+0
BRI EAs I )= 1.200 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

I 11012 & T KBRS

15 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS ST T =52 A I H AR B N =0, 75%2+1. 6
15ecmPL T B 3.100 m
2 HEBIGIRA T SR TR 7K AL B = (BlEE AE 40 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.004 m3 EHLEE=(0. 75%2+1. 6)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 8+0
SRR 1 0em L T B 0.600 m2
4 EREERNEUELAA BHO0.20m3 SHEER A T = FexlE +IE AN HL=0. 75%0. 8+0
EAEE10emLA T B 0.600 m2
5 RHEY T BSHIRKHY PEH THI=2EFR*IE*E=0. 75%0. 8%0. 62
ANT] 5 0.372 m3
6 ‘FIHEE] BHO0.20m3 I TH2=4E g 22=0. 75%0. 8%0. 92
)= 0.552 m3
7 R (R R A - B ) SRR T T=ER=0.75
L5m<#EHIE=<1.8m ~'v/&v5|ik s 0.750 m
8 BB (FEhE I ) BHO.20m3 B T U= R *4E=0. 75%0. 8%0. 79
Tyiay AR g 0.474 m3
9 EHHEE (W) BH0.20m3 R TU2=4E R *EE=0. 75%0. 8%0. 65
RC—40H R + & 7 FE[E D 2 0.390 m3
10 B R (kg ) BHO0.20m3 IR B T US=4E = #E+1E=0. 75%0. 8%0. 12
M-308 & + & o7 S [E D g 0.072 m3
11 EEERE R R) BH0.20m3 RGN GHTRR ) =1L B8 Wi fE=—1%0. 75%0. 006
Iyioay R LR )= -0.005 m3
12 HERFEIEMALIEE As BERA LSy (BEHIFR) =Rl A i FEe /5 X =0. 6%0. 05
RPN e 2 b 0.030 m3
13 EERBEFEWALEL As FEM LSS (RAE R =l e i Fie /5 £ =0. 6%0. 03
N S )= 0.018 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEAA T (PR 1) =Rl FEk /S X =0. 6%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.030 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =0. 6%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.018 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 3574 =0. 37
+4#5 10.0kmLL F DID%E 2 0.924 m3 2+0.552+0+00
17 ST (HEE-#E)3cnl /@ A B =AE FHIE+ I AR N H=0. 75%0. 8+0
BRI EAs I )= 0.600 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=1E FoHlg + AR N A =0. 75%0. 8+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

16

XM 12001 #AKEARR L GEEED « 31E5)

NO b4,/ 3i#s -~k B g HAL EHEKX

1 AR — MR L W T-1=5

g 5.000 m

2 BEEERT—h B R T=1=5
150mm X 50m,// % 25 Hr0IAF» J= 5.000 m

3 GHEERREINT T AT 7 VM ST T =52 = P e A - I B =5%2+0
15ecmlL T )= 10.000 m

4 HEBUGIRA T SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
HHETFn A 2 — A 0.012 m3 &ffEE=(5%2+0)*0. 023%0. 05

5 AHLEAREUELURDA BHO0.20m3 AL T = BB + T A N =5%0. 6+0
SEE 1 0em L T & 3.000 m2

6 ERLERNEUELAA BHO0.20m3 SRR A T = FerE + T A N HL=5%0. 6+0
AR 10em L T i 3.000 m2

7 EWIEE] BHO0.20m3 PRI THI=AE Fex@*i=5%0. 6%0. 78

)= 2.340 m3

8 BB (FEhE I ) BHO.20m3 MR TUL=4E Forfigs4e=5%0. 6x0. 43
7vvar AR 2 1.290 m3

9 EEME (B R) BH0.20m3 P 5 T U2=4E Josligisie=5%0. 6%0. 25
RC-40M & + Z L ki [ED g 0.750 m3

10 B R (kg ) BHO0.20m3 R TUS=4E F*IE4E=5%0. 6%0. 12
M-308 & + & o7 S [E D = 0.360 m3

11 EEERE R R) BH0.20m3 RGN GHTRR &) =4 = *48 B i F=—1%5%0. 001
Iyay R )= -0.005 m3

12 FEERBEEEWALER As BERA LSy (BEHIF) =k i FEk /5 X =3%0. 05
RPN e 2 b 0.150 m3

13 ARRBEFEWALIE As FEM LSS (RAE IR =l e i Fi . X =3%0. 03
N S )= 0.090 m3

14 PEREALEEIERE BH0.20m3 DTr4t BERA T (B 1) =Tl i Rk /5 X =3%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.150 m3

15 PEPRALFERE BH0.20m3 DTr4t BEAA T (S 1) =Rl A i Rk X =3%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.090 m3

16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +RI ) — =74 =2. 34
+4#5 10.0kmLL F DID%E 2 2.340 m3 +0+0+00

17 ST (HEE-#E)3cnl /@ IS B =1 S IE + I AR N A =5%0. 6+0
BRI EAs I )= 3.000 m2

18 Ei%ET (HIE-HJE)Senl)E ARAE |H=FE FoHilg + A TN =5%0. 6+0
HEBRIEAs 7 T745 P 3.000 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)
B 1 EOKEARR L

X[H 12002 #HAKEMR L (BNED « 3MH5)

17

NO HBE4Fr/ Btk -~k B® K& HA

A

1 HERR —MAR T

&R T=L=8

B 8.000 m
150mm X 50m,// % 25 Hr0IAF» J= 8.000 m
3 RIEY T BUIEHRSHY PR THI=4E F*ME*4=8%0. 5%0. 5
A 5 2.000 m3
4 HEERL BGHKHY T BB LUI=AE R+ liE#iE=8%0. 5%0. 5
i [ DML 2 2.000 m3
5 ERL BGHKSHY b PR RRAZERR CHTRR &) =4I Fox 8 W i F=— 1%8%0. 001
FRE O ML b -0.008 m3




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

X[H 13001

AP  2f5HAT

18

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SR T T =2 = PR R A N B =6%2+2. 4
15emPL T )= 14.400 m

2 HEBIGIRA T SRR ) T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.017 m3 &itEE=(6%2+2. 4) %0. 023%0. 05

3 AEEAREUELUADA BHO0.20m3 AEERE A T = BB + T A N =6%0. 6+0
SEE 1 0em L T 2 3.600 m2

4 EREERNEUELAA BHO0.20m3 SHEER A T = B & + T A N H=6%0. 6+0
EEEE 10em L T b 3.600 m2

5 RHEY T BSHIRKHY PR THI=AE FexE*=6%0. 6%0. 46
ANT] 5 1.656 m3

6 ‘FIHEE] BHO0.20m3 | TH2=%E 5 *iE % 1ZE=6%0. 6%0. 69

)= 2.484 m3

7 E LR (B ) BHO0.20m3 PR T U1=%E - x M@+ 78=6%0. 6%0. 4
Iioay R LR )= 1.440 m3

8 BB (Fhg I ) BHO.20m3 MR TU2=4E o fig+4=6%0. 6x0. 65
RC—40HL = + Z > S [E 8 = 2.340 m3

9 EHEE (W E)BH0.20m3 P B T US=%E Rkl 78=6%0. 6%0. 12
M-30HREE + & o/ [ o )= 0.432 m3

10 FHEERBEIEWALER As BERA LSy (BEHITR) =Rl A i FEe /5. X =3. 6%0. 05
)N e 2 b 0.180 m3

11 ARBEFEWALIE As FERA AL Sy (RS 0 =R A B & =3. 60, 03
N S )= 0.108 m3

12 PEREALEEIERE BH0.20m3 DTr4t BER M (PR HED) =l i+ < =3. 6%0. 05
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.180 m3

13 PEREALFLEME BH0.20m3 DTrdt BEAA T (AE 1) =Rl i Fe /R X =3. 6%0. 03
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.108 m3

14 384 15EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 5574 =1. 65
+4#5 10.0kmLL F DID%E 2 4.140 m3 6+2.484+0+00

15 &fdE T (HEE-¥E) 3cnl /@ IS B =1 S IE + I AR N A =6%0. 6+0
BRI EAs I )= 3.600 m2

16 Ei%ET (HE-HE) Sl )E ARAE |H=FE FoHlg + A TN =6%0. 6+0
HEBRIEAs 7 T745 P 3.600 m2




T TEHEEARE

(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L
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X[# 13002 #IEQ 11EHAT

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SRAED) B T =548 AT B R H s AR BN Bi=10%2+2
15ecmPA T g 22.000 m

2 HEBIGIRA T SRR T 7K AL B = (BlEE AE 40 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.025 m3 EhHEE=(10%2+2)%0. 023%0. 05

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ T RN =10% 140
SEE 1 0em L T & 10. 000 m2

4 EREERNEUELAA BHO0.20m3 SRS A T =1 BerlE AN F=10%1+0
AR 10em L T g 10.000 m2

5 KEEY b BUREKHY PR THI=AE FexgE*E=10%1%0. 46
ANT] 5 4.600 m3

6 ‘FIHEE] BHO0.20m3 ) TH2=%E g% 22=10%1%0. 69

)= 6.900 m3

7 E LR (B ) BHO0.20m3 PR TU1=4E R+ i2=10%1%0. 4
Iioay R LR )= 4,000 m3

8 BB (Fhg I ) BHO.20m3 MR TU2=4E e fig+42=10%1%0. 65
RC—40HL = + Z > S [E 8 = 6.500 m3

9 EHEE (W E)BH0.20m3 PR B T US=%E Rl #%8=10%1%0. 12
M-30H & + &> i [E 6 g 1.200 m3

10 EERBEEMMIL As BERA LSy (BEHITR) =l A i FEk /S X =10%0. 05
)N e 2 b 0.500 m3

11 ARBEFEWALIE As FERA LSy (A8 1) =R R i A5 £ =10%0. 03
N S )= 0.300 m3

12 PEREALEEIERE BH0.20m3 DTr4t BERTE My (FRHIED) = mm A+ 8 X =10%0. 05
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.500 m3

13 PEPRALFERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl A i Rk X =10%0. 03
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.300 m3

14 FAE5EH BH0.20m3 DTrat B L ERR=H1 53 +H2 53 Hik PR 43 (S Hll ) — 1 55 =4. 6+
+4#5 10.0kmLL F DID%E B 11.500 m3 6.9+0+00

15 &fdE T (HEE-¥E) 3cnl /@ IS B =4 F* g+ A I Hi=10%1+0
BRI EAs I )= 10. 000 m2

16 Ei%ET (HE-HE) Sl )E ARAE |H=E F+ g+ E A I R =10%1+0
HEBRIEAs 7 T745 )= 10.000 m2
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(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L

20

X[# 13003 #IES 11EHAT

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE ST T =2 A = IR R A N B =3%2+1. 6
15emPL T )= 7.600 m

2 HEBIGIRA T SRR T 7K AL B = (BlEE AE 4 I+ AR+ I BRD) *0. 023%
WHETFn A 22— A 0.009 m3 &fHEE=(3%2+1. 6)*0. 023%0. 05

3 AEEAREUELUADA BHO0.20m3 AEERE A T = BB + T A N =3%0. 8+0
SEE 1 0em L T 2 2.400 m2

4 EREERNEUELAA BHO0.20m3 SHEER A T = FerlE + T A N HL=3%0. 8+0
EEEE 10em L T b 2.400 m2

5 RHEY T BSHIRKHY PR THI=AE Fex@*=3%0. 8%0. 74
ANT] 5 1.776  m3

6 ‘FIHEE] BHO0.20m3 I TH2=4E g ZE=3%0. 8%1. 11

)= 2.664 m3

7 R (AR - B L) SRR T T=4EE=3
1L8m<HBHIE=<2.0m ~'v/ivs|k B 3.000 m

8 BB (FEhE I ) BHO.20m3 PR T.UL=AE Exg*%E=3%0. 8%0. 4
7vvar AR 2 0.960 m3

9 EEME (B R) BH0.20m3 P T U2=4E Josligisize=3%0. 8%1. 35
RC-40# 2 + &> 7 5 E o )= 3.240 m3

10 B R (kg ) BHO0.20m3 R TUS=4E F*IE#4E=3%0. 8%0. 12
M-308 & + & o7 S [E D g 0.288 m3

11 ARBEFEWALIE As BEAA ALy (R EIER) =Rl i Fe /R X =2. 4%0. 05
N S )= 0.120 m3

12 EERBEEMMIL As BEAF ALy (AR 1R) =RieA? i R = S =2. 4%0. 03
RPN e 2 b 0.072 m3

13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE HITA0) =Rl R IR X =2. 4%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.120 m3

14 PEREALEEM: BH0.20m3 DTr4t BERTEM (15 1R) =i A= X =2. 4%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.072 m3

15 /A +5EME BHO0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR oy (IS +l i) - B4 =1. 77
18> 10.0kmLLF DIDE g 4.440 m3 6+2.664+0+00

16 Ei%ET (HE-KE)3ml)E IS B =FE FHIlg + A TN =3%0. 8+0
HEBRIEAs 7 T745 P 2.400 m2

17 & T (EE-¥E)5eml /& AAE |H=1E FH g+ I AR N H=3%0. 8+0
BRI EAs I )= 2.400 m2
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X[# 13004 #IE@ 15T

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE ST T =52 A P e A B I B =T %241, 2
15emPL T )= 15.200 m

2 HEBIGIRA T SRR T 7K AL B = (BEEAE 40 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.017 m3 &lEE=(7%2+1. 2)*0. 023%0. 05

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + T AN =7%0. 6+0
SRR 1 0em L T B 4,200 m2

4 EREERNEUELAA BHO0.20m3 SHEER A T =1 BerlE + I AN F=T7%0. 6+0
AR 10em L T g 4.200 m2

5 RHEY T BSHIRKHY PRI THI=AE Fex@*=7%0. 6%0. 46
ANT] 5 1.932 m3

6 ‘FIHEE] BHO0.20m3 | TH2=%E g ZE=T%0. 6%0. 69

)= 2.898 m3

7 ERIERE (B ) BHO.20m3 IR T UL =3 R E«8=7%0. 6%0. 4
Iioay R LR )= 1.680 m3

8 BB (Fhg I ) BHO.20m3 MR TU2=4E e fig+42=7%0. 6x0. 65
RC-40H R + & o\ [ 6D Ve 2.730 m3

9 EEME (B R) BH0.20m3 P 5 T US=4E Josligsie=7%0. 650, 12
M-30HREE + & o/ [ o )= 0.504 m3

10 FHEERBEIEWALER As BERA LSy (BEHITR) =Rl A FEe /S X =4. 2%0. 05
)N e 2 b 0.210 m3

11 ERBEFEWALEL As FEM LSy (RAE R =l e i Fie 5 K =4. 2%0. 03
N S )= 0.126 m3

12 PEREALEEIERE BH0.20m3 DTr4t BEAA T (PR IR =Rl A FEe /S X =4. 2%0. 05
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.210 m3

13 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl i FEe /R X =4. 2%0. 03
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.126 m3

14 384 15EHE BHO0.20m3 DTrdt T 1 ER=H1 45 +H2 45+ T4 45 (B +A ) — 7% =1. 93
15 10.0kmPL T DIDME g 4.830 m3 2+2.898+0+00

15 &fdE T (HEE-¥E) 3cnl /@ IS B =AE S IE+ I AR N A =7%0. 6+0
BRI EAs I )= 4,200 m2

16 Ei%ET (HE-HE) Sl )E ARAE |H=FE FoHlg + A N A =7%0. 6+0
HEBRIEAs 7 T745 P 4.200 m2
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(7-104) Bl/KEM R LH(R7)

Fepr 1 BlKEAMR L
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X[# 13005 #IEG 11EHAT

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SR T T =2 A PR A N B =4%2+1. 6
15emPL T )= 9.600 m

2 HEBIGIRA T SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
WHETFn A 22— A 0.011 m3 &ltEE=(4%2+1. 6)*0. 023%0. 05

3 AEEAREUELUADA BHO0.20m3 AL T = BB + T A N =4%0. 8+0
SEE 1 0em L T 2 3.200 m2

4 EREERNEUELAA BHO0.20m3 SRR A T = ForlE + T A N H =40, 8+0
EEEE 10em L T b 3.200 m2

5 RHEY T BSHIRKHY PRI THI=AE Fxg*=4%0. 8%0. 66
ANT] 5 2.112 m3

6 ‘FIHEE] BHO0.20m3 | TH2=%E g ZE=4%0. 8%0. 99

)= 3.168 m3

7 R (AR - B L) SRR T T=tR=4
1L5m<#BHIE=<1.8m ~'v/ivs|k B 4.000 m

8 BB (FEhE I ) BHO.20m3 PR TUL=AE Exg*E=4%0. 8%0. 4
7vvar AR 2 1.280 m3

9 EEME (B R) BH0.20m3 M5 T U2=4E Jesligisife=4%0. 8%1. 15
RC-40# 2 + &> 7 5 E o )= 3.680 m3

10 B R (kg ) BHO0.20m3 R TUS=4E F*IE4E=4%0. 8%0. 12
M-308 & + & o7 S [E D g 0.384 m3

11 ARBEFEWALIE As BEAA ALy (PR EIER) =Rl i Fe /R X =3. 2%0. 05
N S )= 0.160 m3

12 EERBEEMMIL As BEAT ALy (AR 1R) =RiA? i R = S =3. 2%0. 03
RPN e 2 b 0.096 m3

13 PEREALFLEME BH0.20m3 DTrdt JBERA T (BE 10 =l A R /R X =3. 2%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.160 m3

14 PEREALEEM: BH0.20m3 DTr4t BEREM (15 1R) =i A= X =3. 2x0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.096 m3

15 /A +5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik T AR 40 (I +ll ) A4 =2. 11
18> 10.0kmLLF DIDE g 5.280 m3 2+3.168+0+00

16 Ei%ET (HE-KE)3ml)E IS |H=FE FHlE + A TN B =4%0. 8+0
HEBRIEAs 7 T745 P 3.200 m2

17 & T (EE-¥E)5eml /& AAE |H=1E FH g+ I AR N =4%0. 8+0
BRI EAs I )= 3.200 m2
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DX 13010 BER(LYIFREERE  4PT

23 H

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SHAEY) W T =545 9L AR B« ARSI B =4%2+8
15ecmPL T )= 16.000 m

2 HEBIGIRA T SRR TR 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
WHETFn A 22— A 0.018 m3 &fifE[E=(4%2+8)*0. 023%0. 05

3 AEERREREELFEIA BHO0.20m3 AEERE A T =1 BB + I AN =4%1+0
SEE 1 0em L T 2 4.000 m2

4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN =4%1+0
EEEE 10em L T b 4,000 m2

5 EIHEEI] BHO0.20m3 PR THI=E B ig=4%1%0. 1

g 0.400 m3

6 B (FE I ) BH0.20m3 R TUL=E i xqe=4%1%0. 12
M-30H & + Z o i [E 6D Ve 0.480 m3

7 ERPEFDLIE As BERFZL Ay (HE ) =f A7 i Fi+ B X =4%0. 05
N S )= 0.200 m3

8§ FEBBEEMILTE As BER AL 5y (A5 10) =R i Ffk S5 X =4%0. 03
)N e 2 b 0.120 m3

9 PEREALFLEWE BH0.20m3 DTrdt BERA T (BRI = FE+ /R X =4%0. 05
AsHil - Colifl (#E55) 4.5km A T DID4E & 0.200 m3

10 PEBEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A+ 2 < =4%0. 03
AsHi - CoBfl (M%) 4.5km L B DID J= 0.120 m3

11 FAE+5EME BHO0.20m3 DTr4t 7 - R=H1 53 +H2 53 ik T AR 4y (IS +l i) — #5458 =0. 4+
+# 10.0kmPL T DIDE g 0.400 m3 0+0+00

12 HfEET (EE-BE) 3cm 1)@ A8 |E=E S g+ E A I BRi=4% 140
HEBRIEAs T745 P 4.000 m2

13 &fdE T (HEE-¥E)5eml /& AAE IH=IE F* g+ A I Ri=4%1+0
FAEBRIEAs 744 )= 4,000 m2




FEAR 1 BlKEANRR L

T TG E

1 H
NO A VLS =¥V EE (BB XEF /TR #&E) &5
1| SAEmsR (NJ1) T 10042
1t
® 50 0. 500
m 0. 500
2 | B =A% BEAF LD
11011 1t
® 50
m 2. 000 2. 000
3| BEBEAR T - FIABIEAT( 10031 10041
FAk) i
ST5LULT 7.000 3. 500
m 10. 500
4 | gL =VE R 10023
1t
® 75 1.500
m 1.500
S| AV=FLo8E (@EES 10032
) ek L fih,
675 14. 000
m 14. 000
6 | SRERE AR T« MIAHIESS ( 10021 10022
FE&A) i,
¢ 100 6. 000 5. 000
m 11. 000
1| BB L - PIAEST( 10001 10002 10003
FH50) i
$ 150 189. 000 8. 000 15. 000
m 212. 000
8 | WHEfi e = EHIR
7T—7 L 11011 it
¢ 50LL
m 2. 000 2. 000
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T TG E

2 B
NO A VLS =¥V EE (BB XEF /TR #&E) &5
9| RYVZFL LR —THE 10031 10041
€T 1t
o T5LLT 7.000 3. 500
m 10. 500
10 | g8 EWHRT—7 L 10031 10041
1th
$ 75 7. 000 3. 500
m 10. 500
1| EEE (=% EIR 10023
T —7T 1t
675 1. 500
m 1. 500
12| ByoFL % ZHRT 10032
® 75 14. 000
m 14. 000
13| RVzF LR —THE 10021 10022
€T 1t
$ 100 6. 000 5. 000
m 11. 000
14 | 58K EHRT7T—7 L 10021 10022
th,
¢ 100 6. 000 5. 000
m 11. 000
15| ByxzFrozy —7yhms 10001 10002 10003
R 1t
$ 150 189. 000 8. 000 15. 000
m 212. 000
16 | $58K% EHRT7T—7 L 10001 10002 10003
th,
¢ 150 189. 000 8. 000 15. 000
m 212. 000
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A
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NO A VLS =¥V EE (BB XEF /TR #&E) &5
17 | 1235y — M Ask L 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
10043 11011 12001 12002 1t
189. 000 8. 000 15. 000 6. 000 5. 000 1. 500 7.000 14. 000 3. 500 0.500
m 1. 000 2. 000 5. 000 8. 000 265. 500
18 | @/KEER 10001 10002 10003 10021 10022 10031 10032 10041
11011 1
189. 000 8. 000 15. 000 6. 000 5. 000 7.000 14. 000 3. 500
m 2. 000 249. 500
19 | &HZERREINT  TA77 N MEHEERR 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
10043 11001 11002 11011 11012 12001 13001 13002 1,
15emEA ™ 378. 000 16. 000 30. 000 12. 000 10. 000 3. 000 14. 000 28. 000 7.000 1. 000
m 2. 000 3.500 3. 100 4. 000 3. 100 10. 000 14. 400 22.000 48. 400 609. 500
20 | EHLERRIREE LA BHO. 20m 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
3 10043 11001 11002 11011 11012 12001 13001 13002 1
SHEEE 1 0em L T 226. 800 14. 400 18. 000 7.200 9. 000 2. 700 8. 400 16. 800 4,200 0. 600
m2 1. 200 1. 500 1. 200 2. 400 1. 200 6. 000 7.200 20. 000 27. 600 376. 400
21 | &4mE]  BHO. 20m3 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
10043 11001 11002 11011 11012 12001 13001 13002 1,
118. 908 13.014 9. 600 3. 852 8. 775 2.484 4. 368 7.896 2.154 0.273
m3 0. 468 0.548 0. 552 1. 092 0.552 2.340 2. 484 6. 900 9. 130 195. 390
22 | R4 R BIGHNH
U 11001 11002 11012 12002 13001 13002 1t
AT
m3 0. 368 0.372 0.372 2.000 1. 656 4. 600 5. 820 15. 188
23 | EWHEHEE (B E) BHO. 2 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
Om3 10043 11001 11002 11011 11012 12001 13001 13002 fth
Uy a o AEERE 75. 060 5.278 6. 120 2.526 3. 095 0. 788 2. 849 4. 872 1. 394 0. 166
m3 0. 257 0.636 0. 469 0. 546 0. 469 1. 285 1. 440 4. 000 3.920 115. 170
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24 | R (M) BHO. 2 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
Om3 10043 11001 11002 11011 11012 12001 13001 13002 1,
RC-40HE BT+ & > /<5t [ 65 28. 350 6. 840 2. 250 0. 900 5.175 1.553 1. 050 2.100 0.525 0.075
m3 0. 150 0. 188 0. 390 0. 420 0. 390 0. 750 2.340 6. 500 9. 650 69. 596
25 | EHE (M) BHO. 2 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
Om3 10043 11001 11002 11011 11012 12001 13001 13002 fth
M-30HE B+ & o/ §[E D 13. 608 0. 864 1. 080 0. 432 0. 540 0. 162 0. 504 1.008 0. 252 0. 036
m3 0.072 0. 090 0.072 0.144 0.072 0. 360 0. 432 1.200 1. 656 22. 584
26 | HREL BGHKHY L=
Y 12002 1,
Kl O L
m3 1. 992 1. 992
27 | F&A4 M BHO. 20m3 DTr 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
1t 10043 11001 11002 11011 11012 12001 13001 13002 1
+#  10. 0OkmEL T  DID4E 118. 908 13.014 9. 600 3. 852 8. 775 2.484 4. 368 7. 896 2.154 0.273
m3 0. 468 0.916 0.924 1. 092 0.924 2.340 4.140 11.500 14. 950 208. 578
28 | PEBEALEEEHE  BHO. 20m3 D 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
Trat 10043 11001 11002 11011 11012 12001 13001 13002 th,
As3fl - CoBf (%) 4. 5kmPL 9.072 0.576 0. 720 0. 288 0. 360 0.109 0. 336 0. 679 0.168 0.024
~ DID# m3 0. 048 0.061 0. 048 0. 096 0. 048 0. 240 0. 288 0. 800 1. 104 15. 058
29 | &¥E T (EE - BJE) beml 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
= 10043 11001 11002 11011 11012 12001 13001 13002 fth
BHABRIEA T T4 N 113. 400 7.200 9. 000 3. 600 4. 500 1. 350 4. 200 ]. 400 2.100 0. 300
m2 0. 600 0. 750 0. 600 1. 200 0. 600 3. 000 3. 600 10. 000 13. 800 188. 200
30 | &¥ET (H3E - BJH) 3cml 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
=] 10043 11001 11002 11011 11012 12001 13001 13002 th
FHAEBREA T4 A 113. 400 7. 200 9. 000 3. 600 4. 500 1.350 4,200 8. 400 2.100 0. 300
m2 0. 600 0. 750 0. 600 1. 200 0. 600 3. 000 3. 600 10. 000 13. 800 188. 200
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31 j,;%jl (R IR RAR - B 10002
)  RIKE 2.0m 11002 11012 1t
1. 5m<HEHIE=<1.8m » 9k 8. 000
UGIE7 m 0. 750 0. 750 4. 000 13. 500
32 | R (BREIMF - Hhk 10022 10023
Jitg ) RHE 2.5m m
1. Sm<<{BHIE=2.0m » yJHk 5. 000 1. 500
VG1E7 m 3. 000 9. 500
33 | Bk — b 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
10043 11011 12001 12002 1t
150mm X 50m, %  2{%H1 0 iA 189. 000 8. 000 15. 000 6. 000 5. 000 1. 500 7.000 14. 000 3. 500 0. 500
F m 1. 000 2. 000 5. 000 8. 000 265. 500
34 | HEFRPEIEWULER  As 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
10043 11001 11002 11011 11012 12001 13001 13002 1
N B2 9.072 0.576 0.720 0. 288 0. 360 0.109 0. 336 0. 672 0. 168 0. 024
m3 0. 048 0. 061 0.048 0. 096 0. 048 0. 240 0. 288 0. 800 1.104 15. 058
35 | AEERIHIRAL L 10001 10002 10003 10021 10022 10023 10031 10032 10041 10042
10043 11001 11002 11011 11012 12001 13001 13002 th,
Wl Z— 0. 435 0.018 0.035 0.014 0.012 0. 003 0.016 0. 032 0. 008 0. 001
m3 0. 002 0. 004 0. 004 0. 005 0. 004 0.012 0.017 0. 025 0. 055 0. 702




